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For the table below one form of a quadratic equation is given. In the blank spaces, rewrite the given equation into
the other forms.

Quadratics & Functions Review
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For each of the quadratic functions above, find the y-intercept, zero(s), vertex, and the equation of the axis of

symmetry.
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For what value(s) of k will the function
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b. g(x) = 3x* + kx + 2k have 1 repeated solution? (MDscrimunant = O)
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kx® + 7x + (k + 3) and g(x) = —5x + 3 never intersect?

For what value(s) of k will the 2 functions, f(x) =
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Find the domain and range of each of the following functions:
a. y=—4(x+5)?%+2
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Let f(x) = 4 — x? and g(x) = 2x — 1. Find the following:
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The graph of‘h(x) is given below. On the same set of axes, draw h™
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b.  f(x) has domain: x € Rand range: y < -3.

Find the domain and range of £~ (x).
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Let g(x) represent the function whose graph is below. Find the equations of all asymptotes, the domain, the range,
and a possible function.

15

rm:-%-—l VAL X="2 , %2
Domaun : R ijC&;D+ ’X"'[L"Zf?‘
ngei K

* MMtj 'P'DSES; lole'L‘F‘/md{b\S :L

-1 %( _)() - ——l—’ = 7:)(
! (x+D(x-2) x* -4
. & e = ZX(%=D{x31)
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Find all asymptotes, holes, the domain, and the range of g(x) = alliy
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